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On�considère�l’équation�E�:� 2x 2 5x 6 5 0- - = .�

A� Sans�calculer�le�discriminant�∆,�Montrer�que�E�admet�deux�racines�distinctes�x1�et�x2.���

B� Sans�calculer�x1�et�x2,�calculer�les�expressions�suivantes�:�

������������A�=�x1�×�x2�����;������
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x x
= + ����;���C�=�(x1�–�3)�(x2�–�3)�����;������� 2 2

1 2D x x= + �����;������ 3 3
1 2E x x= + �
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Voici�le�tableau�de�signe�d’un�trinôme�de�second�degré�E(x)�=�ax²�+�bx�+�c�
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�
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A� Déterminer�le�signe�de�chacun�des�réels�a,�b�et�c�

B� sachant�que�E(0)�=�2�montrer�que�E(x)�=�0�est�équivalente�à����x²�–�4x�+�2�=�0�
�
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Résoudre�dans�IR2�les�systèmes�suivants�:�
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A� (a)���Résoudre�dans�IR�les�équations�suivantes�:�

���������x2�+�2x�–�15�=�0��������������������������*������x2�–�2x�–�3�=�0��

(b)���Déduire�les�solutions�des�équations��

���������x4�+�2x²�–15�=�0��������������������������*������(x2�–�4x+2)2�–�2(x2�–�4x�+�2)�–�3�=�0��

���(c)���Résoudre�dans�IR�l’équation
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���(d)���Résoudre�dans�IR�l’inéquation
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B� (a)���Factoriser�l’expression��-3x2�-3x�+�6.�

(b)���Résoudre�dans�IR�l’inéquation��-3x2�-3x�+�6�<�(x�-�1)2.�
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Soit�ABC�un�triangle�tel�que�BC�=�8�

A�construire�le�point�I�barycentre�des�points�pondérés�(A�;�2)�et�(B�;�3).�

B�Soit�G�le�point�vérifiant�2GA 3GB GC 0+ + = ��.�

Montrer�que�G�est�le�barycentre�des�points�pondérés�(I�;�5)�et�(C�;�1).�

C�Soit�J�le�point�vérifiant� JA 2JC AC+ = ��.�

(a)�Montrer�que�J�est�le�barycentre�des�points�pondérés�(A�;�2)�et�(C�;�1).�

(b)�Montrer�que�les�points�G�est�le�milieu�de�[JB]�puis�construire�G.�

D�Soit�K�le�point�vérifiant�
1

BK BC
4

= ��.�

Montrer�que�les�droites�(AK),�(BJ)�et�(CI)�sont�concourantes.�

E�Déterminer�Les�ensembles�suivants�:�

�A�l’ensemble�des�points�M�du�plan�vérifiant�:�5 2MA 3MB MC 6 2MA 3MB+ + = + �

��B�l’ensemble�des�points�M�du�plan�vérifiant�:�5 2MA 3MB MA MB+ = - �
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